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Question 1- If a person travel 4@&‘ its usual speed then he

\Sf&ﬁ@”/w delayed b utes Find the actual time.
| jn

!

T 1- Al ks Afth ST GTHI T § 4/5 I AT 2 d 98 30
e < 28 O TctaT 2| ArEdides 99T J1d ity

| 30
/g( - /gl: 5. L——r
f ' A7 hr.
L ' C.3 hr
|= 30 pum D.4 hr
)(_lt) = §oxy E. None of these
:/?om o YH
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Question 2- If a person travel with speed 40 km/hr then he

rorinc

reacheg 2 hour late and if he travel 50 km/hr then h@

hour before to cover a certain distance. Find the distance.

@At:é‘*’%fﬁ

Ife RIS =Afth 40 fpiser A nfa @ I aarg diag 2 e 20 9

qgdl & AR Ffa o 50 FerHl/EeT 3hT AT AT = 1 I8 Teh i
i|:}\ SH 0 9 o o foTT 1 53¢ ueed 9 QURISKEAIEI
I -1 3
o D= SxT R A.500 km
Dips 1=zy . 3 B.750 km
=Hox|S
4 = o \.C-600 km
=53 0 O D.400 km
o ‘SH E. None of these
’.f.ﬁ; s Y- "m




Question 3- If a person travel from point P to Q with speed 40

SBI CLERK 2023 (3TIIR o )
— Ho Um| 1

P K @ km/hr and returns to the original point with speed 60 km/hr.

e Go Vin| 4’lFlnd the average speed of total journey.

afe shIg =4tk foig P & Q ek 40 fehwi/sieT st T & AT =it 8
Au,mcg( lgiwc[ gﬁmoﬁﬁfmﬁﬁﬁw foig O AT 81 e ATAT hl ST

J+;frﬁr3n?ra?r%m 120 P,
= XX Goxipy A%O A.40 km/hr

6(}[.!.1 B. 50 km/hr
Lf@ﬁz)) LIM%[H 60%{7 \e48Kkm/hr

W/(FM ’\3% /H&F’MH D.45 km/hr

e~ E. None of these
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Question 4@ of a journey covered at 40 km/hr, one
fourth at 30 r and rest at 25 km/hr. Find the average speed
of whole journey. - —l

Ueh JTAT h Ueh fdaTg ‘HFT%O fopHt/eieT, Ueh <teTs WIT 30 fonHi/seT
I 25 ferefi/eier 3t i & 2 foram STra &1 ol F T shi Sfred

T T ShifsT

s /w*% ﬂmnye fpad = N% B30 km/hr

By C. 42 km/hr
— 35 bh] l\/ D. 55 km/hr
— E. None of these
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Question 5 - A train running with 108 km/hr crosses a person
5 = TD in 36 second. Find the length of train.
| T - 108 TeRH1/EieT 3 TTfd © Tt ATl Uh o Ueh SA<h ohl 36

Tehe W YR Lt 2l Hiet § o ht oels J1d shifsra

/OQXé == gLT A.700 m
4 %A 30 B. 800 m
(_T = {Q(g]m)q _C.1080 m
' D.900 m
I E. None of these
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Question 6 - A train running with 54 km/hr crosses a 350 meter

long bridge in 40 second . Find the length of train.
T 6- 54 TerHI/ET oAl T | <t aTedl Toh o 350 HiT ofsl It shi 40

@Rﬁlﬂt FTct = ¢ el TelTS T ShifsTy]

/ﬂ( s _ L35
Ho A.1000 m
LT T350= 6oq “B-250 m
LT: )50 m 30 C.200 m

D.800 m
E. None of these
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Question 7- A 400 meter long train running with 50 km/hr. In
how much time 1t @

T 7- Weh 400 HieT st 7 50 ferei/sier i e & =t & =1 fova
I § I Teh Tch hl TR L SATT?

T: ¥Lf00 30
ngg/lg A.10 sec
= jj/%xw :fﬁ:%&& G B.12.4 sec
5’6 ) /S/ — C C.14.4 sec
i D. 5 sec
—E - None of these
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Question 8- A train running with uniform speed crosses two
bridges of length 400 meter and 300 meter in 20 sec and 30

}{OO _\_LT =i @O 3 LI second respectively. Find the speed of train

{Q/ 3O UH 8- Uk GHH T ¥ e arell Tk o 400 HieX 317 300 Hiex
ASITS o &1 Jel shl ShHST: 20 Hohe ST 30 Hehe H U L 2l ¢

I‘QOO +3('T = 6Oc>+Q[_W & 7f 3T FIR

LT Sy " 30 A.200 m/sec
| B. 300 m/sec
j — L100+6ob C. 500 m/sec
VO D.400 m/sec
SOC) W, ’DOH; )V)qdéGE’None of these
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Question 9- A train covers 48 km distance in 40 minutes . If its

@ \S i L, N speed reduced by 22 km/hr then what time it will take to cover a
L‘IO distance of 150 km. ‘

12 60 T 9- Ueh ¢ 40 T 7 48 fehwit oht gl 21 shtcll 21 Ffe gwrshi et 22

‘-ij,&’)( 66 %ﬁ/ﬂawﬁaﬁ%ﬁlso%ﬁ?ﬁaﬁw L H 39 TehaaT 99

ATT?
/J_(/@/ T:'— |SO

S = A.2 hr
R o il 19-22 B.4 hr
=3k 30 C.5hr
_ D.6 hr
—E-—None of these
’fﬁ' ’ | “'.',:.Q
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Question 10- A train covers a certain distance from morin@

AM to aftemooith speed of 56 km/hr. Find the total

travelled distance.

e ¢ GeIE 8:00 SfST & 19X 2:00 Tt deh 56 TerHl/eier shl Tid € Th
ity gl 7 =Ll 81 e o i 118 gl T shifsT)

D= 56x% ¢

u A.300 km
= 536 vn/ £ |
C.
P 30 B. 400 km
C.326 km
—P.336 km

E. None of these
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€0 ym | l’f/ Question 11- Two train departed from station A to B at 8:00 AM
N 30 7 / b and 9:0 AM with speed 80 km/hr and 90 km/hr. How many
[ kilometer from A and at what time they will meet.
8 .00 am T 11- RIE A H B T I ISl Goig 8:00 STS1 X 9:0 O 80
Cj;o@ %;’ %ﬁ/aaﬁwo%ﬁ/aaa?rir@ﬁﬂww Ll 2l o A H TohaH
Foretieiet o1 gl o fireii?  Rlhee fpad {4
D= Q@W CW = @o &H 5””" A.14:20 AM,700 km
Yo-& B. 12:45 AM, 800 km
:D: 3OX& C.9:00 AM, 1000 km
Z__—[“QO phw D.16:00 AM,720 km
— —E. None of these
o A




SBI CLERK 2023 (3MTHYR o )

@ W—; 2 kom  Question 12- A train crosses two person walking in same
direction with speed 8 km/hr and 10 km/hr 1n 20 sec and 24

( - @) 7 X}?%= seconds. Find the 'length oti train. '
U o o fosm o 8 ferefi/sier 3t 10 ferfi/gar frmfa a s @ e
S hAT 2l 20 Tehe 31T 24 Tehs T YR FHLd! &l ¢ shl cAalTs 14

(2-b)fs
i | N
5yt - 2 i A. 100 meter
02 6X-64 = WXSXQQQ’O B. 100/3 meter
= 20 k?g _C-200/3 meter

= 2OQ/ y ™ D. 400 meter
| E. None of these
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Question 13- A car i1s 200 behind a bus. In how much time the
car will be 1200 meter ahead of bus if speed of car and bus 1s 60
km/hr and 40 km/hr respectively.

57 13- Teh R Ush o9 © 200 I | Al Shr 3T 59 hl i shuT:
60 Terwi/eieT 3R 40 ferwi/eer 7, 1 S &iF | 1200 Wi AT fohd=

g9 | 31 g7

7—: J Hoo (30 A.200 seconds
N (604@) A9 / —B7252 seconds
){} (& C. 100 seconds
- /9@0){ 1 — QSZ LG D.320 seconds
)9 7 BQ( N — E. None of these
’jzﬁ; ' | “?iﬁ ‘
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0%9 Question 14- A thief stole ad article from a shop at 8:00 AM and
A. 10 hour ran away. The police start chasing him 11 AM same day. In how

B. 12 hour~~ much time they will catch the thief if the speed of thief and
C. 15 hour police is 40 km/hr and 50 km/hr respectively.
D. 16 hour

T 14- Teh =X GoT8 8:00 SI5T Teh GohT TSR0 S <LRT AT
E. None of these TR Qior® 361 o Geg 11 S1S! 38Rl W1 A1 & L adl 8] Fid
=R SR Gferd 3hi i shuRr: 40 Torwi/ereT 311 50 forei/sier &, a1
@ D= Hox3 <R 3! Tohd T8 | Tehe oiil?
= R0 by

30
= Ro
(SG~%) —

é “ e, 4 f . 1
/MJ ™ 91 . P . .l' f. I 4 I:b 'i» . I
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